20239 204t FRIASK AL MEOIT I IS EL S|

Xt 200 MIel2=el
oH 210 ZAENQSL
5t 216 O|Xp40! (Cro| X2l
H.p-8.-=2 Ol A o8 T o 0f] At HRs2
£ 269,000 406,000 A137,000
200 MI2I22] 4,405 4,230 175
210 ZAE N 2l 4,405 4,230 175
216 0| Xt==2 4,405 4,230 175
216-01 20120/t 2,005 1,140 865
< MOIS2ARL > 2,005 1,140 865
OEE0Z 0IXt=L 2,005
—FOASTARS(MOISE AL
1,503,000 % 14! 1,503
MEOLH TS (SXIF M) 502,000 14! 502
216-02 SX334:01 ==L 2,400 3,090 AB0
< MOI2=A > 2,400 3,09 AB0
OFPIASXIZNZ SNH28I20IXH OIS E AN
80,000, 0002 %34 2,400
700 2RSSR 264,595 401,770 A137,175
710 BXSQS 38,333 22,666 15,667
713 83234 38,333 22,666 15,667
713-01 It X235 442 38,333 22,666 15,667
< MOI2=AR > 38,333 22,666 15,667
OFDIASXIZNZ 23| (MOISSAIY) 30,000
—2019¢ 30,000,000 % 1/3%3% 30,000
OMEIETI2 A33H(SXF) 8,333
—2018& 15,000,0002*1/3 5,000
—2020 10,000,00021/3 3,333
720 LHSOH2H 226,262 379,104 A152,842
722 GIEF22 02 226,262 379,104 A152,842
722-03 OlEl 223|442l 198,000 364,000 A166,000
< MOI2=ARY > 198,000 364,000 166,000
ONE= &2 3l 198,000
—FOASTAIIS(MOISE AL
148,398,0002 14! 148,398
— NSO )| 3 (=X F ) 49,602,000 % 14! 49,602
722-04 O EL20IRF2 28,262 15,104 13,158
< MOI2=AR > 28,262 15,104 13,158
OGIE2 01X ¢ 28,262
—FOASTRIIS(MOISE AL
28,039,2312x 14l 28,039
—MEOHE )| 3 (S F ) 223,6192 14l 223




At

—

Al = O

AP E A A

2023 20A FOASK|AUMEIOIN )| 2SS H M
S2A: MOIS =AY
N FOIAS MBI
TR FOIAS MEX|RA(FDASKFUMEOIN)|2SH|H) (crel: :2l)
S - FE - BRI(B]) - HIRAR - BAS ol &k ] SimE==l
MOFSE AFD 269,000 406,000 137,000
FOIAS MET| 269,000 406,000 137,000
ZOIAS META(FOASXALMEOIN) | ZELS(H) 269,000 406,000 A137,000
FOIAS N2AY 184,540 304,000 A119,460
201 LB 4,540 4,000 540
01 AlR2r2IH] 4,540 4,000 540
OFUASXLNZ2 SR 2 222
2,988,000 % 14! 2,988
OFUASTNZ HAES L HABR 1,272
—SJ|RER = 1,20024%1024 12
—AZAH U G EBEL2 XS
1,260,000 % 14! 1,260
OFUASTNZ HHANAZ| &
70,0002 %2 *23] 280
501 SX= 180,000 300,000 A120,000
01 CIRIEX2 180,000 300,000 A120,000
OFUASRNZ Xt
30,000,000 *67+ 7 180,000
MEOLE X|2AALY 82,000 102,000 20,000
201 LB 2,000 2,000 0
01 AlR2r2IH] 2,000 2,000 0
OMEOIMTIZ THAIXS| 2 AR 1,720
—OI2AIE U G e
1,720,0002 %14l 1,720
OMEOIETIZ SIHEDSE olasg
70,0002 x2H %23 280
501 SXt= 80,000 100,000 A20,000
01 CItEX2 80,000 100,000 A20,000
O EIP I ==Y\
10,000, 0002/ *8J} 7 80,000
I 2,460 0 2,460
801 OlIHIHI 2,460 2,460
IR 2,460 0 2,460
OFASXZ Giiblb
1,840,000 14! 1,840
@Rl = [Ia[]<] 620,000 % 14! 620






